2. The surface area of a cyhndei with radms
2cmand height 6 cm is -

SA = 2" 12T\« L
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3. When the sides of a rectangular prism are
_ doubled in length, the volumeis .
(pick one statement) ;
A two times the voiume of the ongmai pmsm

C six times the volume of the original pnsm

4. 1 Casey s mﬂk jug is ﬁlied thh 80 ﬂ 0z of
milk, “then the number of pmts in the jugis:

5. Kim’s convenience store charges $1. 60/L for
grapefruit juice. The cost of 2 gal of juice
would be approxzmately

B four times the volume of the original pnsm .

ewht tunes the volume of the crigmai px ism k

6 The temperature in Jamama is 80°F, whlle the ~
temperature in Toronto is 15°,C, How much
- kwarmer isitin Jammca thar m Toronto‘? ‘
. GIVG youz answer in degi ees Ceiszus

7 Esinnate cach measure usmg the mdlcated units.
a) 320km . mﬂes ‘
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a) What is the Qoiﬁme of the tent?

% shadow cast by
neazest tenth of a metre?

12 'Ihe Voiume of the coﬁe is 750 ft3 Fmd ‘che
radms of thIS cone.
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